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QUESTION 1

An architect is designing a private cloud solution for an organization and has been given the following
information:

The organization already has a VMware Workspace ONE Access 3.3.2 cluster with external MSSQL
server for their existing virtualized desktop environment.

Due to budget constraints, wherever possible, the architect needs to reuse the existing environment.
What should the architect recommend as an authentication solution for the private cloud?

Note: VMware Identity Manager has been renamed as VMware Workspace ONE Access.

A. The existing instance can be reused as authentication provider for the private cloud but maintained outside of
vRealize Lifecycle Manager.

B. Import the existing Workspace ONE Access cluster in vRealize Suite Lifecycle Manager but do not reuse it for the
authentication purposes.

C. Deploy a new instance of Workspace ONE Access cluster using vRealize Suite Lifecycle Manager and use it for
authentication.

D. Import the existing Workspace ONE Access cluster in vRealize Suite Lifecycle Manager and reuse it for the
authentication purposes.

Correct Answer: B

QUESTION 2

A customer has asked to have a vSphere cluster and Cloud Zone dedicated for Cloud Template development. The
customer is going use the Cloud.vSphere.Machine compute resource type and they have been unable to quantify
values for Favor Mappings during a requirements gathering exercise.

Which Flavor Mapping decision should be made for the Cloud Zone?

A. Create multiple Flavor Mappings with incremental sizes

B. Flavor Mappings are not needed for the vSphere Cloud Zone

C. Create a single Flavor Mapping with a modest size

D. Create a single Flavor Mapping with the maximum size supported by vSphere

Correct Answer: A

QUESTION 3

An architect has been engaged to update an operations management solution design to include VMware
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vRealize Suite Lifecycle Manager (vVRSLCM) so that the support team can reduce the complexity of
environment and content management activities. The customer has provided the following information with
regards to the existing environment:

There are four environments for business applications:

Development

Staging

Production

DR

The solution consists of two well-connected data centers (with low latency, high bandwidth links).

All Production workloads and management tooling are deployed to Data Center 1 (DC1).

All Staging, Development and DR workloads run in Data Center 2 (DC2).

Each physical data center has one vCenter Server and a sufficient number of hosts for workload and
management.

There are two separate VMware vRealize Operations (VROps) clusters, one in each data center location.
Currently all content is developed in the DC2 vROps cluster before being manually imported into the DC1
VROps cluster.

Which two design decisions should the architect include in the solution? (Choose two.)

A. An environment will be created within vVRSLCM across both physical data centers to logically group management
components.

B. An environment will be created within vVRSLCM for each physical environment to logically separate management
components.

C. A single vVRSLCM appliance will be deployed into each physical datacenter.

D. An environment will be created within vVRSLCM for each physical data center to logically separate management
components.

E. A single vVRSLCM appliance will be deployed into DC1.

Correct Answer: AC

QUESTION 4
An architect is designing a certificate strategy for vRealize Operations (vVROps) to satisfy the following requirements:

Enhance security Avoid browser warnings The certificate must be applicable for all vROps servers
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Which three design decisions would fulfill the requirements? (Choose three.)
A. Certificates will use the PEM format.

B. Certificates will be created using the Diffie-Hellman security-key algorithm.
C. Certificates will use the PFX and/or PKCS12 format.

D. The solution will use CA-signed certificates.

E. Certificates will use multiple Subject Alternative Name (SAN) entries.

F. The solution will use self-signed certificates.

Correct Answer: ADE

QUESTION 5

A company is planning to deploy a new cloud management solution that will allow business users to deploy servers via
a self-service portal. After the initial discovery workshop with the new service owner, the architect has gained the
following key information about the project:

In an effort to increase user experience, the IT Manager has requested that all deployments do not rely on
manual approvals.

The current IT team is made up of five engineers but only one engineer has any experience writing scripts

or automating server deployments.

The current version of the CMDB solution has no API available to create or destroy configuration items (ClI)

and there is no budget for upgrades.

Currently all CMDB activities are completed manually via service request with an SLA of 4 hours.

The customer has one data center with a requirement of protection against data center failure.

The expected availability SLA (measured monthly) will be 99.5%.

The deployment of a server is expected to take no longer than 2 hours.

Given the information provided, which two risks should the architect document within the design? (Choose

two.)

A. Allowing self-service deployments of servers by business users.

B. The lack of REST-API for IP address management solution.

C. The end to end server deployment cannot be achieved in the time window.

D. There is insufficient resources available to complete the project.

E. The customer only has a single data center location.
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Correct Answer: BC
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